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Goal: enumerate the names of hospitals in X city
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. P.store(T_0);
. While !'P.isEmpty() {
w_j=getWorker () ;

wait until we get r=t_i.performedBy(w_j);
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4. t_i=P.assignTask(w_j);
5

6 postprocess(t_i, r);
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1. postprocess(t, r){
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10 break;
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. postprocess(t, r){

. Let [n_1{scope}, ...
If t is EntryTask(n_i, scope) {
switch(r.pressed_button) {

case Insert: // Case 1
DB.insert(n_i, r.dataitem);
if ((n_{i+1}.?y==0) && (n_i !'= n_m)){
P.insert(EntryTask(n_{i+1},r.dataitem));

© 00 N O O W N

Yelse if (n_i '= n_m){

[y
o

P.insert(DivisionTask(n_{i+1}, r.dataitem));
}

case Delete:

B
N =

// Case 2
DB.delete(n_i, r.dataitem);

=
oW

P.delete(EntryTask(n_{i+1}, r.dataitem));
// Case 3
if (completion is agreed) {

P.delete(t);

-
(&)

case completed:

s e
© 0 N O
“

}

} else if t is DivisionTask(n_i, r.dataitem) {

N
o

// Case 4

NN
N =

if (scope division is agreed) {

P.insert (EntryTask(n_i, r.dataitem));

NN N

o s W

[

[}
[
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